H & 0l & AHS B Ml A

FA 8IS

M 22 0tsSXd 2 gAY ST(AEEXN/E= - It

ol e =X &8

o

=

SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
&I 128,512,493 115,966,775 12,545,718
= 53,883,542
= 2,515,802
| 5,514,326
= 32,669,938
Al 33,928,885
E%.O}%Il% L Y BSR(AZ=X/ES - 122,014,385 109,849,463 12,164,922
= 53,374,582
s 2,411,402
| 4,632,376
T 32,341,720
Al 29,254,305
oy =X && 8,489,314 8,121,683 367,631
= 511,008
J| 3,944,140
= 1,165,444
Al 2,868,722
SIRRIIE A4 L=Hl S K& 3,077,312 3,077,312 0
| 2,461,850
= 307,731
Al 307,731
301 LetEHZ 3,077,312 3,077,312 0
| 2,461,850
T 307,731
Al 307,731
01 AISIBE XG2S (2 LETME) 3,077,312 3,077,312 0
Os22Its otsL=Hl S A&
3,077,312,000& * 14 3,077,312
| 2,461,850
T 307,731
Al 307,731
SIER2IIE & XAMXIE A 738,700 738,700 0
= 221,610
Al 517,090
301 LPENZ 738,700 738,700 0
& 221,610
Al 517,090
02 MBI EZRSGS(HUAS, XLTHA) 733,700 738,700 0
OMAS 822IIE & XAMXIE A
738,700,000 & * 14! 738,700
& 221,610
Al 517,090
HAESIER At 37,146 37,146 0




AT HEIED
M 9= OlEXY U OAR SA(NS=X/2S - HEL0A)
el g =4 sd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 29,717
=S 2,229
Al 5,200
301 EetE2 NS 37,146 37,146 0
Jl 2,717
= 2,229
Al 5,200
01 Al EE AT S (2 RDEXA) 37,146 37,146 0
OHAE 822 XY 015 US|
37,146,000 * 14| 37,146
Il 2,717
= 2,229
Al 5,200
NaS 2&EIEF S2)| F48 N 18,360 18,360 0
== 5,508
Al 12,852
201 =3 18,360 18,360 0
< 5,508
Al 12,852
03 A=l 18,360 18,360 0
ORAS F&IIE SHI| LAY NASA
18,360,000 » 14 18,360
= 5,508
Al 12,852
NM2EH XE2S(2EX) 374,215 374,215 0
= 187,108
= 37,421
Al 149,686
307 el2tol & 374,215 374,215 0
= 187,108
& 37,421
Al 149,686
05 2ItRIE = 374,215 374,215 0
OMLHE2S X 374,215,000 x 14 374,215
= 187,108
< 37,421
Al 149,686
MLEH XIE2L(AEH) 258,000 258,000 0
= 206,400
< 10,320
Al 41,280
307 212+01& 258,000 258,000 0
= 206,400




AT HEIED
M 9= OlEXY U OAR SA(NS=X/2S - HEL0A)
el g =4 sd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 10,320
Al 41,280
05 2ItRIE = 258,000 258,000 0
OMZNd oI 258,000,000 *14] 258,000
= 206,400
< 10,320
Al 41,280
NHE XIE2(Xgnssd) 117,500 117,500 0
= 117,500
307 @12t0| & 117,500 117,500 0
= 117,500
05 2I2HRIE S 117,500 117,500 0
OZFHCIHOIL NN BBAY
117,500,000 *14] 117,500
= 117,500
MEHE SA =4l K& 28,800 28,800 0
= 8,640
Al 20,160
307 gl2to| & 28,800 28,800 0
=S 8,640
Al 20,160
05 git?(& = 28,800 28,800 0
OMZHIE SAAH 238l XA
28,800,000 * 14| 28,800
< 8,640
Al 20,160
MEHIE SAHG XN 33,120 33,120 0
= 9,936
Al 23,184
307 gl2to| & 33,120 33,120 0
=S 9,936
Al 23,184
05 git?(& = 33,120 33,120 0
OMHH SAA M<IH&HI
33,120,000 * 14! 33,120
< 9,936
Al 23,184
e Hged 12,000 12,000 0
= 3,600
Al 8,400
307 el2to| & 12,000 12,000 0
= 3,600
Al 8,400




AT HEIED
M 9= OlEXY U OAR SA(NS=X/2S - HEL0A)
el g =4 sd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
05 2ItRIE = 12,000 12,000 0
O0l43el - HeinA 2
12,000,000& * 14 12,000
= 3,600
Al 8,400
JHEHENY HHY nSZ2 O (XHA) 130,000 130,000 0
307 21201 & 130,000 130,000
05 git?(& = 130,000 130,000
OZEHENY 8202 XE U8
30,000,000& *14{ 30,000
OALSHOAE EDILTE N D
100,000,000 *14] 100,000
=g EHEdE 238l 310,000 310,000 0
= 93,000
Al 217,000
307 @I2t0| & 310,000 310,000 0
== 93,000
Al 217,000
10 Al2ISTIAIEEE 22X 310,000 310,000 0
O =0 -elsdiede 2]
310,000,000& *14] 310,000
= 93,000
Al 217,000
dd 6d el &gl 50,000 50,000 0
= 15,000
Al 35,000
307 @I2to1 & 50,000 50,000 0
== 15,000
Al 35,000
04 QIZIHAIAIH E X 50,000 50,000 0
OFY 014 UX2| Setsl Al
50,000,000 * 14 50,000
S 15,000
Al 35,000
o= OdEHEHE =29 123,000 123,000
307 el2to| & 123,000 123,000
05 212+ =S 123,000 123,000
ONgHHEHE 24
123,000,000 * 14! 123,000
FHEHENE BH0IS82RAM XE 286,200 286,200 0
[ 85,860
Al 200,340
301 LEIE NS 286,200 286,200 0
= 85,860
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AT HEIED
M 9= OlEXY U OAR SA(NS=X/2S - HEL0A)
el od =X 58 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OABEME Aa5(8s20 1)
4,000,000 *14] 4,000
301 EtE2 NS 5,560 5,560
11 #AIAHIXIZ S 4,560 4,560
OWdRstZAl =9 AZFHE 2E
19,0002 x30& *83] 4,560
14 JIEt2 8= 1,000 1,000 0
ORFIHF UM &=) 2o
1,000,000 14| 1,000
307 elztol & 15,000 15,000
12 2I2FI R & = H| 15,000 15,000
OAIgIEHE ns & BIXI0r 15,000
oANUFHE Yot WS
13,000,000 * 14! 13,000
SAAUFAHT D=Atell #IXI0H
2,000,000& *14] 2,000
odetrgs 29 12,540 12,540 0
201 er2&| 5,800 5,800
01 At2teltl 1,800 1,800
Oogxz 1,800
oOd T AL 2;Atell HXIOE Xt
g gt 900,000 *2CH 1,800
03 A2 I 4,000 4,000 0
OOIMTHI 2ITial %223 DS
4,000,000& *12] 4,000
301 EtE N = 6.740 6.740
11 #AIMHIXIE S 6,740 6,740
OC&EH 52 & & AENF (A A
At OdHl 50,0003 x202 *23] 2,000
OWdEA cltd Agdst us M8l S
3,000&*300& 900
OCY M S5t 24Atdl HXI0H &
BlE2d 50,0003 x16EH M2 2 3,200
OWdHHE2s 2teal &4 4| 24
10,0002 162 *4=| 640
JHEEE Lok 22 AL 2EAA 251,357 251,357 0
Jl 182,015
= 20,803
Al 48,539
307 gl2to| & 251,357 251,357 0
Il 182,015
= 20,803
Al 48,539
10 Al SXAAEEHE 22X 224,634 224,634 0




AT HEIED
M 9= OlEXY U OAR SA(NS=X/2S - HEL0A)
el g =4 sd (e A
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OGN 2EAE S| (HEE
) 224,634,000 100 2 224,634
Jl 157,244
< 20,217
Al 47,173
11 AMEISXAIEEXE 26,723 26,723 0
ONHZLWAR 2SAIL HISSX A
(& &EH) 20,216,000 x 14 20,216
) 20,216
OJIEZS oA A st (HEEH)
6,507,000 *14] 6,507
Il 4,555
== 586
Al 1,366
JHEZE Lokt ESAIE SR AHEXES 17,200 17,200 0
Jl 17,200
301 22N = 17,200 17,200 0
Il 17,200
01 Al EE A S (2 RDEXMA) 17,200 17,200 0
ONEZ WK 2BAE AKX H2X
H=(04d&d) 17,200,000 * 14! 17,200
Il 17,200
JHEEY Okt As=s2208 X 31,838 31,838 0
) 22,287
= 2,865
Al 6,686
307 elzto| & 31,838 31,838 0
Jl 22,287
[ 2,865
Al 6,686
11 AMEISXIAEEES 31,838 31,838 0
ONEZAWBHA ARSI =TI 29(0]
S&H) 1,838,000 *14] 31,838
Jl 22,287
[ 2,865
Al 6,686
JHE =S Oloi Xt 2l=Hl K& 10,263 10,263 0
Jl 7,184
< 924
Al 2,15
307 lztol & 10,263 10,263 0
Jl 7,184
=S 924
Al 2,19




2A:

X RH ;
o=

HA&I=EL
EF.0ISXE ¥ o4z s

(SRt O

(MBI2X/2] - =Y

o

)

el g =4 sd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
11 AMEISXAEEES 10,263 10,263 0
OJEZ WEHK o =2HI(0AEH)
10,263,000 * 14 10,263
Jl 7,184
< 924
Al 2,185
ZRMoiE =HIZ(FY) 37,698 37,698 0
Jl 26,389
[ 3,393
Al 7,916
307 lztol & 37,698 37,698 0
Il 26,389
== 3,393
Al 7,916
11 AMRISXAEEES 37,698 37,698 0
OZHIIHAE FHIAAIY 2SI
37,698,000 * 14| 37,698
Jl 26,389
s 3,393
Al 7,916
JHE=EEY dgA 29X 126,382 126,382 0
Jl 63,191
=S 18,957
Al 44,234
307 21201 & 126,382 126,382 0
Jl 63,191
= 18,957
Al 44,234
10 AlISXAZEE 22X 126,382 126,382 0
OIS ZHTIaHAEA 2SHI(HELSHEH)
126,382,000 * 11 £ 126,382
Jl 63,191
= 18,957
Al 44,234
JHEES Johld wdXsZ2 08 29 4,287 4,287 0
Il 3,000
= 386
Al 901
307 el2to| & 4,287 4,287 0
) 3,000
= 386
Al 901
11 AMEISXAIEEE 4,287 4,287 0




AT HEIED
M 9= OlEXY U OAR SA(NS=X/2S - HEL0A)
el g =4 sd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OJIEE2 it nEAeTz 18 29
= EaEdH) 4,287,000 *14] 4,287
Jl 3,000
< 386
Al 901
8= Olol HEEX At 2,750 2,750 0
= 825
Al 1,925
307 el2to| & 2,750 2,750 0
= 825
Al 1,925
11 AMISXAIEEX 2,750 2,750 0
OVE=2 IIeH HLYX At
2,750,000 *14] 2,750
< 825
Al 1,925
24 ol EsAlE 2SN 246,863 218,033 28,830
Jl 175,488
< 21,412
Al 49,963
307 elztol & 246,863 218,033 28,830
Jl 175,488
=S 21,412
Al 49,963
10 Al SXAEEE 22X 237,916 209,511 28,405
ONZAMST SSAL SHHI (M0l
) 237,916,000 * 104 2~ 237,916
Jl 166,541
=S 21,412
Al 49,963
1 AFBI= XA EE 8,947 8,522 425
OZALIGHA BSAIE HIEZX 43|
A& 8,947,000 + 14 8,947
Il 8,947
= IlollAt EsAl4 JIsEZ 80,000 0 80,000
Jl 40,000
S 12,000
Al 28,000
402 2I2F X201 & 80,000 0 80,000
Il 40,000
= 12,000
Al 28,000
02 QI X2 AL E R (01X THE) 80,000 0 80,000




SN O1EIIED
¥ 25 0SSN & oddd ST(MRSN/ES - HFL0Y)
el od =X 58 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OE=EHIIoHA ESAIE JISE2(SH0IE
&) 80,000,000& » 14 80,000
Jl 40,000
[ 12,000
Al 28,000
H=MEasdE 29 X2 183,242 183,242
307 elztol & 183,242 183,242
05 212t S 183,242 183,242
OO0+ A AEHIE 2
166,702,000 * 190 £ 166,702
OO0I 4L AEHHIE ARt
16,540,000 * 14| 16,540
SOHOHTIGHAH RIRAIE & AEA 28 N (0del 183,550 166,235 17,315
KIS HIES)
Il 91,775
== 45,888
Al 45,887
307 212+01& 183,550 166,235 17,315
Jl 91,775
=S 45,888
Al 45,887
10 Al SXAEEE 22X 183,550 166,235 17,315
OSOHOHIIGH A A A 2SHI(6EARAXA
HIE) 183,550,000 * 10K 2~ 183,550
7l 91,775
= 45,888
Al 45,887
SOHOHTIGHAH XIRAIE L agh 28 N (RAHE 235,209 176,700 58,509
E)
Jl 164,646
=S 35,281
Al 35,282
307 21201 & 235,209 176,700 58,509
Jl 164,646
= 35,281
Al 35,282
10 AlISXAAZEHE 22X 235,209 176,700 58,509
OSOHORIIGH R XIZAIE 2SHI(SXIHEH
) 235,209,000&1 %14} 235,209
Jl 164,646
= 35,281
Al 35,282
SOHOHTIGHAH RIRAIE % &4 29 N (HEx 450,500 429,722 20,778
X HE)
7l 315,350




2A:

X XH -
o=

Ol&ot=0t
S 0SXd ¥ g SE(AMIEXN/ES - IHEY

o

)

el g =4 sd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 67,575
Al 67,575
307 lztol & 450,500 429,722 20,778
Jl 315,350
== 67,575
Al 67,575
10 Al2ISTIAIEEE 22X 450,500 429,722 20,778
OXOHOHIIGH A K2 XI@aEH 2SHI(H Xt
SN 450,500,000& x14] 450,500
Il 315,350
== 67,575
Al 67,575
SOHOHTIGH K KIZ2AIE JIsEH 4,620 7,700 23,080
Il 2,310
== 1,185
Al 1,155
402 2I2E X201 & 4,620 7,700 /3,080
Jl 2,310
= 1,185
Al 1,195
02 QI XHE AL E R (01X THE) 4,620 7,700 23,080
OSOHOHIIGH X KIZAIE JIs22(H=014
IR RMIE) 4,620,000 * 14 4,620
Jl 2,310
= 1,185
Al 1,155
S OHOHIIOH A+ X3 84,889 77,049 7,840
Jl 59,422
= 12,733
Al 12,734
307 gl2tol & 84,889 77,049 7,840
Il 59,422
= 12,733
Al 12,734
11 AMEISXAEEXS 84,889 77,049 7,840
OFOHOHINOH K =X (A ARAXIJEIE/
SXIMEE) 42,444,500 #2002 84,889
) 59,422
= 12,733
Al 12,734
SOHOHLIGH S AR AL 24,100 46,700 A22,600
201 er2 3| 1,500 1,500 0
01 AtR2t2|HI 1,500 1,500 0
O=g=¢g 1,500




AT HEIED
ZH: D5 0ISKY L OERY SA(MEISK/2S - HEL0I4)
ol e =X &8 (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
o SOHONINAIS Sl N ATHARE SR
3 #4g 100,000 52 »33] 1,500
301 EtE2 NS 15,600 31,200 15,600
02 AR 2HHLFS(HAAS, XNLHE) 15,600 31,200 A15,600
OEdiiHAe XH&XIH 15,600
oA 1,000,000 x1&~12& 12,000
o NFHI(HYERHI)
300,000 x1&* 122 3,600
406 J|EHAH=0I A 7,000 14,000 A7,000
01 JIetA=01d 7,000 14,000 AT7,000
OEHHAY Atg =AHXRE A&
7,000,000 *1H 7,000
Z31lol OlF0d EsAlE 2EXE 389,024 389,024 0
Jl 272,316
= 58,354
Al 58,34
307 gl2tol & 389,024 389,024 0
Il 272,316
= 58,354
Al 58,354
10 Al SXAAEEHE2EHI2x 389,024 389,024 0
OZL1UlaH0IF=0d ESAIE 23| 389,024
o0lF=Hd&EH 194,512,000 * 10 £ 194,512
Il 136,158
= 29,177
Al 2,177
oltEstt8dH
194,512,000 * 11 £ 194,512
Il 136,158
= 29,177
Al 29,177
Z20loh OIFHE 2EsAl4 AL AEXE= 10,000 10,000 0
Il 10,000
301 EtE N = 10,000 10,000 0
Jl 10,000
01 Al 2E A S(SREEME) 10,000 10,000 0
Z5llol 010 ESAlE El4X Tt
NS (=010 8&H, L3t g &l
) 5,000,000& »2H 10,000
Jl 10,000
O =522 LoHiES 316,579 265,186 51,393
[ 62,038
Al 254,541
301 LELEE S 6,500 3,960 2,540




2A:

Ol&ot=0t

ZH: B2 0SKE L 8RS ST(ASSK/2S - HEL0IL
el g =4 sd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 MBI 2HHSFHS(HAANS, XLHE) 6,500 3,960 2,540
OUESETAIE AT HE AZ2(H, F4)
50,0002 652 *23] 6,500
307 gl2to| & 310,079 261,226 48,853
=S 62,038
Al 248,041
10 Al SXAEEE 22X 310,079 261,226 48,853
ONEZHLXNAE SAHA S84
46,080,000& x14] 46,080
< 13,824
Al 32,25
OWdZ8gAANE 28 & o2
146,804,000 *14] 146,804
= 29,363
Al 117,441
O==ldh 0IF0E 2SAIE SAHA S8
=g 14,400,000 * 14! 14,400
< 4,320
Al 10,080
O=gUloh 0IF0d 2SAIE & FIHE
48,435,000 * 14 48,435
= 14,531
Al 33,904
OWE=TIAIE SAA MM
54,360,000 * 14| 54,360
=22t J1SAL 5,000 5,000
307 glztol & 5,000 5,000
04 IZHHAIAIS 2 5,000 5,000
Oog=zgFzL2t J|SA
5,000,000& *14] 5,000
Mgl AS StotE SALKIZ 5,000 5,000
307 @120l & 5,000 5,000
04 QIHHAMAIH 2 £ 5,000 5,000
O gelAHHAS etite A XI&
5,000,000 *14 5,000
Y= 30,120 30,120 0
201 er23 | 15,200 15,200
01 At2teltl 16,200 16,200
Oggt=3=H| 200
oZHL LT (842 S)
100,000 *23] 200
OfI&u=H| 12,900
oAl HE FHUY AOIH S (2
Hal) 5,160&*2,500H 12,900
O=28+¢ 2,100




2A:

Ol&ot=0t

B 9= OIS U OLHEO! SX(ASI=X/ES - IHEU0HA
el od =X 58 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SO=Al M2l Z0YDs SASY o
Ol 1,050, 0003 *1H 23] 2,100
202 04dl 1,020 1,020
01 2L AL 1,020 1,020
O=0gY g
85,0002 53 x2 2423 1,020
301 YL SHZ 4,900 4,900
14 JIEH2 A2 4,900 4,900
OROPI= BHYDS 2ALE
70,0002 *7& 102 4,900
307 elztol & 9,000 9,000
02 2B YAIHE & 9,000 9,000
OZH 0L WK (0==WCA)
5,000,000& 14 5,000
OZHuYns BHA(0==EF0HH)
4,000,000 * 14 4,000
Ots=Xl X 32,443,495 30,098,076 2,345,419
= 14,140,588
[ 2,235,182
Jl 123,829
[ 4,173,3%
Al 11,770,500
XS 0otsHE 24] K& 4,308,000 3,606,000 702,000
s 2,154,000
s 646,200
Al 1,507,800
307 212+01& 4,308,000 3,606,000 702,000
[ 2,154,000
= 646,200
Al 1,507,800
10 MEISXAEHE2EHIE2X 4,308,000 3,606,000 702,000
OXH0tsHE =34l A& 4,308,000
24| X 858,000,000& *14] 858,000
= 429,000
S 128,700
Al 300,300
= QI2AH| K& 3,450,000,000& 14] 3,450,000
= 1,725,000
= 517,500
Al 1,207,500
XS 0tSHE 288l =IHKIE 202,581 185,832 46,749
[ 30,388
Al 172,193
307 lztol & 202,581 185,832 46,749




SN OIS

B 98 OIS U OLHEO! SX(ASI=X/ES - IHEU0HA
=els Ol sSA XE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 30,388
Al 172,193
10 Al SXAEEHE2EHI2x 202,581 185,832 46,749
OXE0tsHE 288 FIOHAE
202,581,000& x 14 202,581
= 30,388
Al 172,193
NEotsHE & 3,500 3,500
201 fer=3| 500 500
01 AtR2tc|Hl 500 500
OXIHOISHIEIZI RS &AL
500,000 *14] 500
307 glztol & 3,000 3,000
02 2B YA HE X 3,000 3,000
ONAOISHEl EAX 2223 938 X
el 3,000,000 *14] 3,000
NSHotsdE 22 AR (ZHI2XE) 2,297,840 1,722,000 575,840
=S 460,600
Al 1,837,240
301 LEtE NS 216,240 152,640 63,600
< 34,344
Al 181,896
14 JIEt2 8= 216,240 152,640 63,600
OXNS0ISHE SAHL S€+2
90,0002 106« 12 114,480
= 34,344
Al 80,136
OXIHA0tSHIE SAHR SE=Z(AlH])
80,0002 x106 122 101,760
307 212+01& 2,081,600 1,569,360 512,240
[ 426,25
Al 1,655,344
11 AL = TIARL S 2,081,600 1,569,360 512,240
OXIOISHIE SAH| X2
1,982,240,000& » 14 1,982,240
= 396,448
Al 1,585,792
OXSotsHE SAER0 A&
99,360,000 * 14! 99,360
== 29,808
Al 69,552
KSEOtsHE SAHAL QIA4H] E84E 254,400 0 254,400
= 76,320
Al 178,080




2A:

N B2

Ol&ot=0t
OSKIY 2 82 ST(MISX/ER - HEY

s Ots=A A3 (SH9 H2)
RA - B - BRAEH) - MRARY ofl &4 G o HIDEY
301 LtENZ 254,400 0 254,400
= 76,320
Al 178,080
14 JIEt2 43 254,400 0 254,400
OXY0tSHIE SAHL 2128 2M =G
200,000 x106Z « 122 254,400
S 76,320
Al 178,080
AGotsdE E+==8E X 65,772 75,600 AN9,828
s 32,886
= 9,865
Al 23,021
307 212+01& 65,772 75,600 N9,828
[ 32,886
== 9,865
Al 23,021
10 MEISXAAIEHE2EHIE2X 65,772 75,600 AN9,828
OXgotsHt S+==8d X3
65,772,000 *14] 65,772
[ 32,886
== 9,865
Al 23,021
NA0tsdE EQR2E & 14,592 12,000 2,592
[ 7,2%
== 2,189
Al 5,107
307 212t01™ 14,592 12,000 2,592
= 7,2%
< 2,189
Al 5,107
10 Al SXAIEEHE2EHI 22X 14,592 12,000 2,592
OXSotsHe EQ2HI
14,592,000 x 14! 14,592
= 7,2%
< 2,189
Al 5,107
KNHOoISHE eZHe X2 50,000 50,000 0
= 25,000
= 7,500
Al 17,500
402 SIZERHE0I M 50,000 50,000 0
= 25,000
S 7,500
Al 17,500




FA 8IS
M 2 0K 2 gAY ST(MIIEXN/ES - IIELAHY)

s Ots=A A3 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 QIZEXHE AL E (01X THE) 50,000 50,000 0
OXIcotsdH s2Hd X&(WRel2dd
) 50,000,000& » 14 50,000
= 25,000
== 7,500
Al 17,500
XSotsdE JIs22 10,000 100,000 290,000
= 10,000
402 2I2E X201 & 10,000 100,000 A90,000
< 10,000
02 QI XHZ AL E R (01X THE) 10,000 100,000 A90,000
OXgotsHt Jlse2d
10,000,000& * 14! 10,000
== 10,000
ANS0ISHE BACE] S22 A& 176,098 198,424 N22,326
S 52,829
Al 123,269
307 @I2t01 & 176,098 198,424 N22,326
== 52,829
Al 123,269
02 LB HAHE L 176,098 198,424 N22,326
OXIY0tsHE SACel 22 X2
176,008,000 * 14| 176,098
= 52,829
Al 123,269
NS 0rsSHlE 4yl A& 23,520 23,520
307 el2to| & 23,520 23,520
10 Al SXAAEEHE 22X 23,520 23,520
OXG0tsHE el X2
23,520,000 & * 14! 23,520
XS 0ISHE 018 Ots Stite &AL 15,000 15,000
307 212+01& 15,000 15,000
04 QIZHHAIAIRH 2 X 15,000 15,000
OXIS0ISHE 0180ts S0t &AL
15,000,000 * 14| 15,000
NSOtSHE OtSSA WAL IHA X2 134,330 70,164 64,166
= 54,854
< 14,170
Al 65,306
101 @124H| 127,920 64,954 62,966
= 54,854
== 14,170
Al 58,896
M ORNZZ2NSE S 127,920 64,954 62,966




2A:

Ol&ot=0t

M 98 OlSXY U 0RO SA(NSI=X/2S - HEL0A)
s Ots=A A3 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OOtsSSXIWAH It X
127,800,000 *14] 127,800
= 54,854
< 14,170
Al 58,776
OO0tS=AIUAL 22 WS K|
120,000 %14 120
201 fer= 3| 2,960 2,960
01 AtR2te|HI 2,960 2,960
OOtS=XLAL s 2ZH|
1,400,000 *14] 1,400
OOtS=X WAL WS HAt=g
600,000 14| 600
OOLS=XWAHXISAZISRIAL SEHI
8,000 x10&x 122 960
202 04| 3,450 2,250 1,200
01 2LHAH| 3,450 2,250 1,200
OOSEXWAHXIGABIZXIAL) HRFX
G1a] 20,0002 x10€ 128 2,400
OZ22 Ots=EX Al nE =& 0]
30,0002 %362 +13] 1,050
CEAHE OtSSeAtddl2tel XI& 265,257 265,257 0
= 142,720
= 10,704
Al 111,833
201 er23| 19,940 19,940 0
= 15,952
[ 1,19
Al 2,792
01 At22t2ltl 17,940 17,940 0
OLEARE HRFA 23|
9,000,000& 14| 9,000
= 7,200
S 540
Al 1,260
OEEAEE OlSSE At 2elAL S
8,000 x4 +102x 12 3,840
= 3,072
[ 230
Al 538
OLEAEEZIRARS, #HEIA #IHBH0|
AN S BH=E 150,000 x9& »23] 2,700
= 2,160
< 162
Al 378




AT HEIED
M 98 OlSXY U 0RO SA(NSI=X/2S - HEL0A)
s Ots=A A3 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Oxtegr ext=z 600,000& 42 2,400
= 1,920
== 144
Al 336
2 352484l 2,000 2,000 0
O8&82= € HA 2,000
SCREAEIE 2% ZEea
2,000,000& %14 2,000
= 1,600
= 120
Al 280
202 04dl 13,240 13,240 0
= 10,592
= 794
Al 1,854
01 =LHAHI 13,240 13,240 0
OO0tSSeAtal2tel At 0Bl 13,240
oOtSSEAtAIZEIAL Atdl2e|] PRFE
20,0002 x4 *102* 122 9,600
= 7,680
= 576
Al 1,344
o ANG Atefl2te] HRFA
50,0002 x4 +23] 400
= 320
= 24
Al 56
oOtSSEAtZ2CIAL 1E & YIS A
1] 1,620,000 #24] 3,240
= 2,592
= 194
Al 454
206 M=l 5,950 5,950 0
= 4,760
= 357
Al 833
01 M=4l 5,950 5,950 0
Onz1d 2% Mg Fadl
5,950,000 * 14 5,950
= 4,760
= 357
Al 833
301 Eet2 NS 223,127 223,127 0
= 109,016




AT HEIED
M 98 OlSXY U 0RO SA(NSI=X/2S - HEL0A)
s Ots=A A3 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 8,177
Al 105,934
01 A2 HSHS(RNEERTH) 193,773 193,773 0
CYARE Z208(H2 - 2IX - M -t
z) 29 X 193,773,000 *14] 193,773
= 85,533
< 6,416
Al 101,824
11 dALEBIXNIZE S 3,4%4 3,454 0
OSEARE Z2O¥(NEES S) 228 2
ul 2,550,0002 %14 2,550
= 2,040
== 153
Al 357
O0ts=sAD|I2AE 2 23
226,000 *43] 904
= 723
= 54
Al 127
14 DBt 2 a3 25,900 25,900 0
OLEAEE UHESA 23|
10,0002 +35 & *22 700
= 560
S 42
Al B
OSHARE Z208 2 (A+E S)
25,200,000 * 14! 25,200
= 20,160
= 1,512
Al 3,528
307 @I2t01 & 3,000 3,000 0
= 2,400
= 180
Al 420
01 22X +&H| 3,000 3,000 0
OEEHARE SEAd2cIUa 228 X
el 30,000 »100H 3,000
= 2,400
= 180
Al 420
oS¢ X& 16,381,858 16,381,858 0
= 13,105,486
= 982,911
Al 2,293,461
301 EtE N = 16,381,858 16,381,858 0
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2A:
X XH -
o e

=aak

Bl

22 OISXE L GARY S(ASZN/ES - 5

Oot==Xl XI&

o

)

SA - B GR(31) - HIRAY - BES ol &k G o HlmS2
Oo2g=d 1,800
ollssAlfIde 4 =
100,000 *9H 23] 1,800
S|=E Ots=4! 902,500 631,750 270,750
= 902,500
301 LetEEZ 902,500 631,750 270,750
& 902,500
02 MBI B2 (HUAS, KLTHEA) 902,500 631,750 270,750
O Ots=S4 10,0003 *950H 95 902,500
& 902,500
getE Ols34! 685,440 598,500 86,940
= 205,632
Al 479,808
301 BN F 685,440 598,500 86,940
& 205,632
Al 479,808
02 AISI 2GS (FAAS, RYTHR) 685,440 598,500 86,940
oges Otss4 8,000 x952H «90 685,440
& 205,632
Al 479,808
ZAI0ts 24 175,200 153,300 21,900
= 52,560
Al 122,640
301 LB NZ 175,200 153,300 21,900
= 52,560
Al 122,640
02 MBI B A2 (HAAS, XLTHEA) 175,200 153,300 21,900
OZAoIs 34 8,00024 x60H x3652 175,200
& 52,560
Al 122,640
B8 CEHAAER XA 48,000 48,000 0
& 14,400
Al 33,600
307 gI2Hol 48,000 48,000 0
= 14,400
Al 33,600
11 ASI=SXAIEE X 48,000 48,000 0
O3I|I2 SEIAHAER
48,000,000 *1IH A 48,000
& 14,400
Al 33,600
Oglolg el&=0| stote 40,000 40,000
307 QI2Hol ™ 40,000 40,000




2A:

N B2

Ol&ot=0t
OSKIY 2 82 ST(MISX/ER - HEY

s Ots=A A3 (e A
SA - ZE . BR() - HRAR - BES of v G o HIDE2
04 IZHHAIAIS E X 40,000 40,000 0
O0iel0le 2l5=0 et0td
20,000,000 #20H 2 40,000
Ors8AE etz Al &4 12,870 12,870
201 fet=2 3| 12,870 12,870
01 AtR2t2|HI 12,870 12,870
Oget=EH| 7,370
oltsEAE el E2EF M
3,000,000& *14] 3,000
oOtSEAE otz Al &4 2|
1,370,0002 %14 1,370
oltsEAH el Ws
3,000,000 *14] 3,000
Oo=2g=+d 5,500
SOIEHAHE ZBITAl XS &AL
g 100,000 x14H+23] 2,800
oltsdEAH AelXZF0l 29
1,500,0002 14} 1,500
SOIEHAE HISSH(SRAHL) 2
1,200,000 *14] 1,200
OlS=TIAIE 2SR 3,625,079 3,625,079 0
= 389,730
Al 3,235,349
301 EtE N = 16,140 16,140
02 A2 XSG (FHAAHS, NLWE) 13,500 13,500
OAlgots fI2(4, ofglold, =4)
50,0002 x90 2 +33] 13,500
11 EAIAHIXIES 2,640 2,640 0
OOISSRXIAIE SAL SR Ats Al 2
& 50,0003 x6 & x2 2 +23] 1,200
OAE0IS Ml & WS X &
24 ,0002 x 162 +32 *13] 1,440
307 el2to| & 3,608,939 3,608,939 0
= 389,730
Al 3,219,209
10 AlRISXAZEE 22X 3,608,939 3,608,939 0
OOts=XIAIE 2EHI(I214H], 22H])
3 439 859,000 *14] 3,439,859
[ 343,986
Al 3,095,873
OO0IS=XAE 2HHI(BANSESE)
90,000,000& * 14 90,000
= 27,000
Al 63,000
OO0ts=AIAIE THEXE 22 8|
24,900,000 * 14! 24,900




FA 8IS
M 2 0K 2 gAY ST(MIIEXN/ES - IIELAHY)
s Ots=A A3 (=

SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
= 2,490
Al 22,410
O0SSEXAIE OISXIA(MEEE, 50 S
i, &t st E=dI2) 54,180,000 ¥ 14| 54,180
T 16,254
Al 37,926
RESOs 188 29 226,715 211,959 14,756
= 90,685
& 40,810
Al 95,220
307 212+01™ 226,715 211,959 14,756
= 90,685
& 40,810
Al 95,220
10 Al S XA EEHE2IHIE X 226,715 211,959 14,756
0R250ls 188 29
226,715,000& * 14! 226,715
= 90,685
& 40,810
Al 95,220
LESOts 18E 2%(=Hl) 82,727 4,850 A12,123
T 24,818
Al 57,909
307 2Iz2+0l™ 82,727 HA,850 A12,123
T 24,818
Al 57,909
10 IS SXAIEHE2ZHIEX 82,727 HA,850 A12,123
ORES0ts JISE(SAMNSESY)
10,800,000 14! 10,800
& 3,240
Al 7,560
ORES0ts I8 SAHA 2124H| A
24,520,000 3 * 14! 24,520
T 7,35
Al 17,164
ORES0ts JEE A FIHHE
31,127,000 14! 31,127
& 9,338
Al 21,789
ORBES0ls 088 OIS (MEEE, 5
SOl (e stE=gI2 S)
16,280,000 14| 16,280
T 4,884
Al 11,3%6
SiiIlolotsad 249 237,182 198,493 38,689




AT HEIED
B 9 OIS U OLHE EX(ASISK/ES - ISU0IA)
&t Ots=Al A& (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 94,872
=S 28,462
Al 113,848
307 @I2to| & 237,182 198,493 38,689
= 94,872
= 28,462
Al 113,848
05 212t =S 237,182 198,493 38,689
OStUITISHOISHE 2
237,182,000 14 237,182
= 94,872
= 28,462
Al 113,848
stiimshotsa e 22 (<Hl) 15,840 5,640 10,200
== 4,752
Al 11,088
307 212+01& 15,840 5,640 10,200
< 4,752
Al 11,088
05 2IZtAE = 16,840 5,640 10,200
OstIIoiOtsEH SALA SEY
,840,0003 * 14 6,840
= 2,052
Al 4,788
OstilllolOtsEHEl SALA g+
3,000,000 *14] 3,000
== 900
Al 2,100
OstiiuloiotsaH 2
6,000,000& *14] 6,000
= 1,800
Al 4,200
SHiIlohOts LAIESAIE KA 4,860 9,720 4,860
s 1,458
Al 3,402
307 @I2t01 & 4,860 9,720 A4,860
[ 1,458
Al 3,402
11 AMEISXAEEES 4,860 9,720 4,860
OSIIIFHOIE LAIRSAIL X8
4,860,000 14 4,860
= 1,458
Al 3,402
ZAEXS0ts NHEXA 18,141 36,010 A17,869




AT HEIED
M 98 OlSXY U 0RO SA(NSI=X/2S - HEL0A)
ctel: Ols=X X3 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 12,695
=S 1,632
Al 3,814
307 @I2to| & 18,141 36,010 17,869
= 12,695
= 1,632
Al 3,814
1 AMISXAIEEXS 18,141 36,010 A17,869
OZAEXS0ts X (Atdi2tel)
16,641,000 * 14 16,641
= 11,645
= 1,497
Al 3,49
OZAEXS0ts MSHXIR(HEH])
1,500,000 *14] 1,500
= 1,050
= 135
Al 315
E - 22s0ts X 1,600 1,600 0
301 LEtE NS 1,600 1,600
11 AALRHIXIRS 1,600 1,600
OZAOIS, FIEIIHOIS LASABA &
AR Ald] 24 50,0002 x8H +23] 800
ORE=0ts ldHat 4L &H| 24
8,000& %10 %102 800
Orsstti2=s K& 26,360 26,360
201 er2 3| 14,360 14,360
01 AtR2te|HI 11,000 11,000
O2AE Ols25 2l 9Ias 2
2,000,000& *14] 2,000
Ootsstt mlafi(elal)ots B x|
3,000,000 14| 3,000
ONUZESIAE 2 319 BELg
100,000 x5 * 123 6,000
02 S3=gHl 3,360 3,360 0
Ootssilf MR FUHAES SR (KT)
40,0002 x2CH* 122 960
O0tsEs g2 FA itg Al
200,000& «1CH*12& 2,400
202 04t 8,400 8,400
01 =LHOHI 8,400 8,400
OOISSIHEA & Atell2tel S& 0]
20,0002 x5S +72x 12 8,400
307 @I2t01 & 3,600 3,600
01 22X 2| 3,600 3,600




2A:

Ol&ot=0t

M 98 OlSXY U 0RO SA(NSI=X/2S - HEL0A)
=els Ol sSA XE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Osttiulshots A& 3,600
oSIHIIoHOtSXIZ (M2l & L)
2,000,000& %14 2,000
=S HIISHOLS X (SAHI)
1,600,000 *14] 1,600
OlSSIHZAL =5F &H S22 HIE 1,000 10,000 29,000
= 500
== 150
Al 350
201 =3 1,000 0 1,000
= 500
= 150
Al 350
02 S3=gHl 1,000 0 1,000
OOtSBIHIEAL =52 Ul RA24 HIS
1,000,000 *14] 1,000
= 500
= 150
Al 350
OISESdEII12 28 41,861 30,763 11,098
308 XM SOIE 41,861 30,763 11,098
07 XA FEE2 41,861 30,763 11,098
OOlEE5ESI|Z 22 Pu3
41,861,000 *14] 41,861
Ols2s dFAY 20,000 20,000 0
= 16,000
[ 1,200
Al 2,800
201 Ler23 | 1,080 2,160 1,080
s 864
s 65
Al 151
02 s3=gHl 1,080 960 120
O0tsEs g2Fd FUHAs S4=Z L6
45,0002 =2CH* 122 1,080
= 864
=S 65
Al 151
202 04| 4,800 4,800 0
= 3,840
= 288
Al 672
01 2K 4,800 4,800 0




A Of&IIED
Hu: 95 0ISKE L (8 SA(MSAZK/2S - IEU0A)

&t Ots=Al A& (EEEE))
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
S EEEIEEE I
20,0003 x2H*10«12& 4,800
= 3,840
= 288
Al 672
301 LPENS 14,120 13,040 1,080
= 11,2%6
= 847
Al 1,977
01 Al B&X 2 Z2(2REETR) 14,120 13,040 1,080
23S0ls AblA 24| 8,120
oB50ts 2l K&
300,000& =12 3,600
s 2,880
= 216
Al 504
o850t MHIAHH HISHI
200,000& =12 2,400
= 1,920
& 144
Al 336
o E2350t=s JIEHKIR 2,120,000 *14] 2,120
= 1,6%
& 127
Al 297
OEs0ts ¥F4te HAS R 237
20,0002 *300H 6,000
= 4,800
& 360
Al 840
NASEO0tS AEA 395,380 358,700 36,680
T 46,614
Al 348,766
301 LB F 395,380 358,700 36,680
T 46,614
Al 348,766
2 A BEHHZ(FHAAHS, NYHA) 395,380 358,700 36,680
OJE/AEMU =23
19,680,000 14! 19,680
& 5,904
Al 13,776
OJERIE0ls HstdEtt=s
1,500,000 *5H 7,500
T 2,250
Al 5,250




SN OEIIED
¥ 25 0SSN & oddd ST(MRSN/ES - HFL0Y)
s Ots=A A3 (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OJFE SIS HTH =R
8,200,000& 14 8,200
= 2,460
Al 5,740
OJEIE0lS 2] X2
360,000,000 *14] 360,000
< 36,000
Al 324,000
IHERIE0ts dol28z X2 6,518 6.518 0
= 4,566
< 586
Al 1,366
307 212+01& 6,518 6.518 0
= 4,566
=S 586
Al 1,366
06 28= 6,518 6.518 0
OJIHFIZ0IE HEl2EE TR
6,518,000 * 14 6,518
= 4,566
= 586
Al 1,366
IESIEE AleixiZHl g 4.400 4.400 0
= 3,080
= 3%
Al 924
301 EetE NS 4,400 4,400 0
= 3,080
= 3%
Al 924
01 Al EE A S (2 REXMR) 4,400 4,400 0
OJISIEOIS A2IXIBY N
4,400,000 * 14 4,400
= 3,080
= 3%
Al 924
IHEEXNEEEH =2 27,160 23,001 4,089
308 AtXIEMSOIE 27,160 23,091 4,069
07 HAHH 2R 52 27,160 23,091 4,069
OHE?EXNZEdH 29
27,160,000 * 14! 27,160
2023l X 28,500 0 28,500
= 19,950
s 2,565




FA 8IS
M 2 0K 2 gAY ST(MIIEXN/ES - IIELAHY)

s Ots=A A3 (SH9 H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
Al 5,985
301 LPBNF 28,500 0 28,500
= 19,950
& 2,565
Al 5,985
01 A BE X2 (R REETHA) 28,500 0 28,500
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Al 49,392
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OEs&=20s e
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[ 165,420
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Al 115,794
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[ 10,800
= 3,240
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307 el2to| & 21,600 19,200 2,400
[ 10,800
= 3,240
Al 7,560
05 21t =S 21,600 19,200 2,400
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[ 10,800
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AE Oel0lE Jls EZAME 175,250 175,250
401 Al HIZL R 0HbI 130,200 130,200
01 Al&HI 130,200 130,200
O&0iel0lE E|uAd =4 c|22d
80,200,000 * 14| 80,200
OEHNe0IY 24 SA
50,000,000& x 14 50,000
405 KHoHFSH| 45,050 0 45,050




2A:

N B2

Ol&ot=0t

OSKIY 2 82 ST(MISX/ER - HEY

g9l =25 A EERE)
RA - BB - SA(BH) - MRAES ofl &t G o HIDEZ
01 TR ESF SHI 45,080 0 45,050
ORT0RI01E X2 7
45,050,000 *14] 45,050
SOISE RN HEH SPR2USAY (HEAY) 20,000 20,000 0
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14 0Bt 2a3 12,600 12,600 0
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= 98,205
== 45,829
Al 19,641
10 AlIS XA E 22X 163,675 163,675 0
OO0lRI01Z RHDTH| X2
86,948,000 x 14 86,948
= 52,169
S 24,345
Al 10,434
Oxg2dtl(s0E, o) X
71,353,000 * 14 71,353
= 42,812
= 19,979
Al 8,562
OsHE &N galoeold X2
5,374,000 *14] 5,374
= 3,224
= 1,505
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Oglzt - JtE0elold =el@ Al K&
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O0lglold etg 2dH| XA
100,000& %1,0008t+ 122 1,200,000
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2FAHIA K& Zst 3,510,230 3,472,047 38,183
301 Et2 &= 1,245,600 1,351,200 105,600
14 J|Et2 a3 1,245,600 1,351,200 A105,600
OORI0IE DAY SEag
1,000,000,000& *14] 1,000,000
OESuA FI12&5g(012F - JHd)
30,000252102+ 128 75,600
O0fRI01E DAY FESG
50,000& 1,700 23] 170,000
307 212t01™ 2,264,630 2,120,847 143,783
06 2= 97,99% 97,99 0
OO0y HESHEE ot X2
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Ot - JI80el01E XrE=2gs|
200,000 «00CH* 12& 216,000
OOIZIOIZ & - Lhety] X
75,000,000& *14] 75,000
O4+2 0el0ld 0~1AIe 28| NI
450,000,000 * 14 450,000
OLIZt- JtEORI0IE 2& AL QIHHI(L 2
) 200,000 *500 A+ 128 120,000
OFSNRAIE SIWAHROME) 2I12H] X
& 250,0003 x115E « 12 345,000
O0elold P22 SEE3H 2
800,000,000 x 14 800,000
1 AMISXAEEXS 120,000 0 120,000
7Ot 4=+ Wx K@
120,000,000 * 14! 120,000
WA lAdl X 11,274,763 11,274,763 0
= 6,764,858
= 3,156,933
Al 1,362,972
307 @I2t01 & 11,274,763 11,274,763 0
= 6,764,858
= 3,156,933
Al 1,352,972
10 Al SXAZEHE 22X 11,274,763 11,274,763 0
O0iglold WA el2dl X2
11,274,763,0003 14! 11,274,763
= 6,764,858
= 3,156,933
Al 1,352,972
AMZHESMEIA HSXIA 672,228 654,000 18,228
= 336,114
= 168,057
Al 168,057
301 EtE N = 98,000 90,000 8,000
= 49,000
S 24,500
Al 24,500
01 AR E2EHSFS(RRNEERTHE) 98,000 90,000 8,000
OAZtHEEE XIZ 98,000,000 » 14 98,000
= 49,000
& 24,500
Al 24,500
307 lztol & 574,228 564,000 10,228
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=S 143,557
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ONZHESAHEIA HZ X2
574,228,000 x14] 574,228
= 287,114
= 143,557
Al 143,557
AN MM K& 2,076,340 2,076,340 0
= 1,245,803
= 581,376
Al 249, 161
301 EtE NS 2,076,340 2,076,340 0
= 1,245,803
= 581,376
Al 249,161
4Bt 2 a3 2,076,340 2,076,340 0
OS0iZ 280N SEaesy
163,817,000 * 14 163,817
= 98,290
= 45,869
Al 19,658
OUARZ RN EbI
1,885,856,000& *14] 1,885,856
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= 14,998,257
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10, 140,000,000 *14] 10,140,000
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= 2,716,000
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Al 271,600
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O0ielold DIoIs0ts I8 gds+g Xd
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= 2,716,000
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Al 874,294
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11,657,250,000& * 14 11,657,250
= 8,742,937
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 18,900
05 212t =S 27,000 27,000 0
OJISZHE SANSESE
27,000,000 *14! 27,000
== 8,100
Al 18,900
ISR LS AAMS (FHe - AT IEXR) 165,620 165,620 0
= 82,810
== 24,843
Al 57,967
307 212+01& 165,620 165,620 0
= 82,810
S 24,843
Al 57,967
05 glt?(& = 165,620 165,620 0
OISABAS KR (2 - PSR
) 165,620,000 * 14! 165,620
= 82,810
S 24,843
Al 57,967
orolEs A& 2,267,771 1,693,810 573,961
= 1,587,441
= 204,099
Al 476,231
307 @I2t01 & 848,155 736,8% 111,259
= 593,709
= 76,334
Al 178,112
05 212t =S 848,155 736,8% 111,259
OOl0I=SXN A =29
848,155,000 x 14 848,155
= 593,709
= 76,334
Al 178,112
308 AHAIEMSOIE 1,419,616 956,914 462,702
= 993,732
= 127,765
Al 298,119
11 SIS0t A AS A 1,419,616 956,914 462,702
Ool0l== 0182 FRAE3 A2I23EE
2 UE= 1,419,616,000& » 14 1,419,616
= 993,732
= 127,765
Al 298,119




2A:

X ZH -
o=

VEplES!
22 OISXIY L GARY S(AIZN/ES - 5
AN - TGHREIHS - 220X =X X2

el EERE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OOISE0] HZZEHI X (ZHIAKY) 3,540 4,050 A510
= 1,062
Al 2,478
307 el2to| & 3,540 4,050 A510
= 1,062
Al 2,478
05 212t =S 3,540 4,050 A510
OO0I==20!1 HZH&H| K&
3,540,000 *14] 3,540
== 1,062
Al 2,478
SSE0tUsH £X1 - 23 109,692 82,270 27,422
Il 54,846
== 16,454
Al 38,392
307 212+01& 109,692 82,270 27,422
7l 54,846
= 16,454
Al 38,392
05 glt?(& = 109,692 82,270 27,422
OBES0LIsH 2% 223 N (2H2)
109,692,000 * 14! 109,692
Jl 54,846
= 16,454
Al 38,392
CHESE TH4goge X 78,000 37,660 40,340
7l 39,000
= 11,700
Al 27,300
307 @20l & 78,000 37,660 40,340
Il 39,000
= 11,700
Al 27,300
05 2I2tRIE =S 78,000 37,660 40,340
OUE3tE AMEHANZE X2 AY
78,000,000 * 14 78,000
Il 39,000
= 11,700
Al 27,300
CHE3tE 22WsSAHIA K 220,980 217,344 3,636
Jl 110,490
= 33,147
Al 77,343
307 elztol & 220,980 217,344 3,636




2A:

X XH -
o=

Ol&ot=0t

22 OISXIY L GARY S(AIZN/ES - 5
(0]

A0t - UE8IHE - 2=l =X XI&

el EERE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 110,490
=S 33,147
Al 77,343
05 git?(& = 220,980 217,344 3,636
OUEats 22u= AHlA X
220,980,000& x14] 220,980
Il 110,490
= 33,147
Al 77,343
CH23t0tS Atdl2tel X 37,018 35,850 1,168
Jl 18,509
= 5,553
Al 12,956
307 @120l & 37,018 35,850 1,168
Il 18,509
= 5,553
Al 12,956
05 2I2tRIE =S 37,018 35,850 1,168
OU=22HE Atdl2tel XI&AE
37,018,000 x 14 37,018
Il 18,509
= 5,553
Al 12,956
ZE0I12A SHSIAHIA XIH 32,813 31,788 1,025
Il 16,407
= 4,922
Al 11,484
307 elztol & 32,813 31,788 1,025
) 16,407
= 4,922
Al 11,484
05 2IIRIE =2 32,813 31,788 1,025
OZE0I2At SHANHIA XIH
32,813,000 x 14 32,813
Jl 16,407
[ 4,922
Al 11,484
o120 Jt=sad3rd 35,031 33,943 1,088
Il 17,515
< 5,255
Al 12,261
307 glztol & 35,031 33,943 1,088
Jl 17,515
s 5,255




2A:

Ol&ot=0t

B 92 OIS UL OlLHEO! BX(ASI=X/PS - HEU0HA
ol HINE - LI2SIIE - 9R0IF0 =X A (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 12,261
05 212t =S 35,031 33,943 1,088
OLEaHE OIS0 Ji5etE &y
35,031,000 *14! 35,031
Jl 17,515
= 5,255
Al 12,261
ZE012N S 24,500 24,500 0
Jl 12,250
= 3,675
Al 8,575
307 el2to| & 24,500 24,500 0
) 12,250
= 3,675
Al 8,575
05 21t =S 24,500 24,500 0
OZE0I2IAt kst Xd
24,500,000 * 14 24,500
) 12,250
S 3,675
Al 8,575
H0Ph= 201214 OO0IS At 5,940 5,940 0
) 2,970
& 891
Al 2,079
307 glztol & 5,940 5,940 0
Jl 2,970
< 891
Al 2,079
05 2ItRIE = 5,940 5,940 0
OO0tz Z220121% CHOIS At
5,940,000 * 14 5,940
Il 2,970
== 891
Al 2,079
ROz 02018 L2230l el 29 10,800 10,800 0
= 3,240
Al 7,560
307 elztol & 10,800 10,800 0
= 3,240
Al 7,560
05 212+ =S 10,800 10,800 0
O0bt= oglold t=aolofna 23
10,800,000& * 14! 10,800




SN 01EIIED
M B 0lSKd L o4AY ST(MISX/ER - IIBLHS
Sl AN - CH2EOIE - 9R01EQ =X X9 (crel: g)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
= 3,240
Al 7,560
2201204 MEE0] 29 20,966 26,208 Nb, 242
& 6,290
Al 14,676
307 212+01™ 20,966 26,208 Ab, 242
T 6,290
Al 14,676
05 It g 20,966 26,208 Ab,242
OZ20/01014 H42ER0| 2
20,966,000 14! 20,966
= 6,290
Al 14,676
Z20I8I4 2&8HS HIE K2 9,900 9,900 0
& 2,970
Al 6,930
301 LPENZ 9,900 9,900 0
T 2,970
Al 6,930
03 MBI 2 & A6l 2 (K THEA) 9,900 9,900 0
OZ=0I2A FEFH=HIE K2
300,000&*33H 9,900
= 2,970
Al 6,930
C23PE Fgus L A2 29 17,000 17,000
307 212+01 ™ 17,000 17,000
05 QIZtRIEr S 17,000 17,000
Otr2ets FHgus XA
12,000,000 14| 12,000
OobizsteMz 29 5,000,000 * 14! 5,000
&2 C=gstn 29 32,440 32,440 0
307 QIZ2t01 A 32,440 32,440
05 QIZtAErEZ 32,440 32,440
OoXe i=ststu 2%
32,440,000 14! 32,440
CI230|F0EHAHH 29 6,000 6,000 0
307 212+01™ 6,000 6,000
05 QIZIRIEr S 6,000 6,000
OUZ30|F=2IZ2HAHE 2AIS
6,000,000 * 14 6,000
CI2301E AtH Al & otNI = 89,500 92,500 A3,000
| 44,750
& 13,425
Al 31,325




SN OIS

M 9= OlEXY U OAR SA(NS=X/2S - HEL0A)
ol HINE - LI2SIIE - 9R0IF0 =X A (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 89,500 92,500 A3,000
Jl 44,750
== 13,425
Al 31,325
05 2ItRIE = 89,500 92,500 A3,000
oMty & A2HY K&
46,000,000 * 14 46,000
Il 23,000
== 6,900
Al 16,100
OFlsrEtl sekld 43,500,0003 %14 43,500
Il 21,750
== 6.525
Al 15,225
Ct2shtE Al & Rl XIS 40,000 40,000
307 lztol & 40,000 40,000
11 AMEISXAEEE 40,000 40,000
O =LI=3t=XE At HE X
10,000, 0002 100 2 +4E 7| 40,000
Q=QIFCUSEANZEEH 24 228,077 195,586 32,491
201 er=2 3| 2,000 2,000 0
01 AtR2t2|HI 2,000 2,000 0
O0==Al 2ZIHE UR2IIE =SS
SA2gos &g
100,000& x10E 23] 2,000
202 04| 1,640 1,640
01 =LHO LI 1,640 1,640
O2=0l & U220l 2USH LM HRF
& 20,0002 x2E #2312 960
O2A=0l & UE0I2SHAHEH 243
SYFH 82 85,0002 x2H *43] 680
307 @120l & 224,437 191,946 32,491
02 QB AANEE R 9,000 9,000 0
O0{==0|=FCIHE MBEX
9,000,000& *14] 9,000
05 2ItRIE =2 215,437 182,946 32,491
OO0i==Al 2I=2FUSSAALH 2 A
2 215,437,000 x 14 215,437
MHoel=el & ThEsts etitg At 20,000 13,000 7,000
307 el2to| & 20,000 13,000 7,000
04 QIHHAIAIH 2 £ 20,000 13,000 7,000
OMoeI=el & Th2sttE et 0te &A
20,000,000& 13l 20,000
B S AL 7,000 7,000

307 212t01& 7,000 7,000 0
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SN OIEIIED
M FHAE HE SH(AEISX/ L0 - HAH)
&t EaY B35 ¥ HE =4 (EEEE))
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
| Al 3,714
HAUEURE Ots2=sdl X3 96,000 0 96,000
= 48,000
Al 48,000
301 LBENZ 96,000 0 96,000
= 48,000
Al 48,000
01 MBI BEAG6Z2(2DEXTHA) 96,000 0 96,000
OFaHE 2R 0tSY=H| XA
96,000,000 14! 96,000
= 48,000
Al 48,000
EadE oY 188,277 172,279 15,998
= 24,814
Al 163,463
307 QIZt01 A 188,277 172,279 15,998
= 24,814
Al 163,463
05 QIZtRES 188,277 172,279 15,998
O&FAE dE=XHH 23
82,714,000 & *10H & 82,714
& 24,814
Al 57,900
OFLdE Ae=XdE 2 (XHA)
105,563,000 * 170 2 105,563
KA HAESSXNJANH 25 100,102 98,650 1,452
| 50,051
Al 50,051
307 212+01 A 100,102 98,650 1,452
| 50,051
Al 50,051
05 QIZtRIErZ 100,102 98,650 1,452
OXIgAte]l EAESEXEMA 2=
100, 102,000 * 171 2 100,102
| 50,051
Al 50,051
HAEASEH} Z2)3 29 77,768 76,548 1,220
| 38,884
Al 38,884
307 2I2+01A 77,768 76,548 1,220
| 38,884
Al 38,884
05 QIZtRIEIS 77,768 76,548 1,220




SN OIEIIED
3 Fad AW SE(MR=SX/ 2 - 34 E)
el dAE 25 2 HE |4 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OF2ESEAL B2 1d 2Y
77,768,000 * 100 2 77,768
Jl 38,884
Al 38,884
St 9 Fad X 150,451 148,863 1,588
Il 90,246
= 10,763
Al 49,442
307 el2to| & 128,924 127,336 1,588
) 90,246
Al 38,678
11 AMISXAIEEX 128,924 127,336 1,588
Ostm 9 BAW X
128,924,000 * 14 2 128,924
7l 90,246
Al 38,678
308 XXM SOl 21,527 21,527 0
= 10,763
Al 10,764
1 SIS0t EAS A 21,527 21,527 0
Ostu & #4d F0==g A&
21,527,000 *14] 21,527
=S 10,763
Al 10,764
st 8 Al gS4H XIE 9,222 10,247 1,025
Jl 4,611
Al 4,611
307 glztol & 9,222 10,247 1,025
Jl 4,611
Al 4,611
11 AMEISXAIEEXS 9,222 10,247 1,025
OBl % HAE SAH| XA
9,222,000& %14 9,222
Jl 4,611
Al 4,611
OIQ10F THetw=AlE S4H] X 29,700 29,700 0
< 8,910
Al 20,790
307 elztol & 29,700 29,700 0
= 8,910
Al 20,790
11 MEISXAEEXS 29,700 29,700 0
ODIet et sAIE S48l N&
29,700,000 *14] 29,700
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2A:

Ol&ot=0t

3 Fad AW SE(MR=SX/ 2 - 34 E)
el dAE 25 2 HE |4 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
BAEHE SAA SEE 17,280 14,400 2,880
= 5,184
Al 12,096
301 EtE N = 17,280 14,400 2,880
= 5,184
Al 12,09
14 0Bt 243 17,280 14,400 2,880
OHAEHEH BAX SE4g
17,280,000 * 14! 17,280
== 5,184
Al 12,096
Faddl oRI22 UM X2 79,143 75,343 3,800
= 23,743
Al 55,400
307 elztol & 79,143 75,343 3,800
= 23,743
Al 55,400
10 AlISXAAZEHE 22X 79,143 75,343 3,800
O=EAE 2E Of222 Tixel
79,143,000 * 14! 79,143
== 23,743
Al 55,400
HAEH NS00l 2 575,128 566,326 18,802
Il 277,064
Al 298,064
307 elztol & 575,128 566,326 18,802
Jl 277,064
Al 298,064
1 AMEISXAIEEXS 575,128 556,326 18,802
OFEAELWSOIIIDI(LEH)
170,182,000 *3IH 2 510,546
Il 255,273
Al 255,273
OHAHLWSOPIIHON(FLE)
43,582,000 100 £ 43,582
Jl 21,791
Al 21,791
OFAHLN<S0IIMHIOI SAHAH 4UEE Dl
H2ES 7,000,000 *37H 2= 21,000
BAESEHAE K& 687,913 639,913 48,000
307 212+01& 687,913 639,913 48,000
05 2ItRIE = 687,913 639,913 48,000
OBAEAHD 29
419,593,000 104 A 419,593




S OfEIIED
Hu: HA

A48 54
2ol 49 25 8 248 =4 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SIEFPEEEEREE
133,160,000 * 100 2 133,160
O02HAERST 29
135,160,000 * 11 £ 135,160
HAEXIEAL BIX XI& 74,016 70,560 3,456
Jl 37,008
Al 37,008
307 glztol & 74,016 70,560 3,456
Il 37,008
Al 37,008
05 2IHRIE S 74,016 70,560 3,45
OFadad2t XNSTAF HHXI
25,200,000 * 100 2 25,200
) 12,600
Al 12,600
O0IEEAEZ32E RIS A HHXI
24,408,000 * 11 2 24,408
Il 12,204
Al 12,204
ONEFEAEEZ32E XI= A BiX
24,408,000 * 100 2 24,408
) 12,204
Al 12,204
STEAESEAL Z208 2 XIS (KHH) 24,400 24,400 0
307 212+01& 24,400 24,400
11 AMRISXAEEES 24,400 24,400
O33AdeAg Z208 2 (M)
24,400,000 * 14| 24,400
NEAE H0PDI7 2(MZ E4d Ho9I2a 2 2,800 2,800 0
%)
) 1,400
Al 1,400
307 @120l & 2,800 2,800 0
Il 1,400
Al 1,400
10 Al SXAEEE 22X 2,800 2,800 0
OXgE~E H0?E2 24
2,800,000 * 104 2 2,800
Jl 1,400
Al 1,400
NEAE H0PDI7 2(MZ E4d 239023 2 4,000 4,000 0
%)
Jl 2,000
Al 2,000

307 212+01™ 4,000 4,000 0




2A:

Ol&ot=0t

3 Fad AW SE(MR=SX/ 2 - 34 E)
el dAE 25 2 HE |4 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 2,000
Al 2,000
10 Al2IS XA EEE 22X 4,000 4,000 0
OFLdrdNe BLEEHRAL 23
2,000,000 +27H 2= 4,000
Jl 2,000
Al 2,000
LA HE3EH 23 166,280 160,826 5,4%4
Il 83,140
Al 83,140
307 212+01& 166,280 160,826 5,454
7l 83,140
Al 83,140
05 2IIRIE =2 166,280 160,826 5,454
OFaxdd=23HEH 29
166,280,000 *14] 166,280
Jl 83,140
Al 83,140
HAHGRSHH 2(&HI) 10,000 10,000 0
== 3,000
Al 7,000
307 212+01™ 10,000 10,000 0
[ 3,000
Al 7,000
05 2IZtAE = 10,000 10,000 0
OBALEHESE 2S(BANSESY,
wEEH M) 10,000,000 *10H 2~ 10,000
= 3,000
Al 7,000
FAEXNCA MM = A& n,7er 0 n,rer
s 21,518
Al 50,209
307 @I2t01 & n,rer 0 n,7er
[ 21,518
Al 50,209
05 2ItRIE = n,rzr 0 n,rzr
OF2EXNEL M2HME =8 K&
100,000 «54Z = 1200 & 64,800
= 19,440
Al 45,360
OXMSME == 40 B2 XNAOI2RE3
) 6,927,000 * 14 6,927
== 2,078
Al 4,849




A HdIE

1

3 Fad AW SE(MR=SX/ 2 - 34 E)

2ol 49 25 8 248 =4 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
H=AlEAEHNQusR 29 1,620,000 1,620,000

307 elztol & 1,620,000 1,620,000
05 QI2t9IEt2 1,620,000 1,620,000
OO=ABALHS DR Q12|
1,620,000,000& 1,620,000
FOtuE X2 (UF/FURXZTSESUR) 438,000 358,000 80,000
=0t W=Jgt =4 438,000 358,000 80,000
SAE Ws34l XA 438,000 368,000 80,000
308 XtXIEMSO0IE 438,000 358,000 80,000
08 w=J| 202X 438,000 358,000 80,000
ORXZ glt=nd T2 24 X2
150,000,000 150,000
OANERAY HESZDY 29 X2
208,000,000 208,000
OR0t Y& W= X
80,000,000 80,000
HY2HZHI(HEI=D) (DIEHDIIE 1,157,198 976,297 180,901
= 373,723
= 104,400
== 99,163
Al 579,912
elgE3 1,060,242 879,101 181,141
= 373,723
[ 104,400
= 99,163
Al 482,956
el 2d| 15,246 14,967 279
101 @124H| 15,246 14,967 279
02 JIEtAE = 6,514 6,410 104
OBAZE A2e 224
9,523 x1H+b57 A2+ 123 6,514
03 SR (RIH )22 U2+ 8,732 8,557 175
ORI ZR4E 8,732
OB (ML)
13,1353 * 1 *20 Al 2t 122 *150% 4,729
o<LbAZ(AZS2elH)
11, 11831 +20A| 2H+ 12 x150% 4,003
CEHAERE SAtd2el K& elAdd| 191,180 179,109 12,071
= 102,400
= 7,680
Al 81,100
101 @12A4H| 160,136 163,703 A3,567
= 83,791
= 6,284




SN OIEIIED
3. A2 3HI(0gIH=E!) (1B IIE
chol: ol (19 @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 70,061
03 SRA(RIH )22 HE S 160,136 163,703 A3,567
OLEAEE OtSSEA2CIAL B 160,136
=JlEgg 24,332, 7503 x4 97,331
= 73,945
= 5,546
Al 17,840
odz2+g 1,187, 750& x4H 4,751
odIsd Jt= 50,0003 x4 » 122 2,400
oJtEd 100,000 x4 * 122 4,800
oXRrY 80,0002 x4 =122 3,840
oXgag 200,000 x4E 128 9,600
SRR =] 130,000& x4~ 123 6.240
ocHES I 2,027,900 x120%+4H 9,734
oA\ Xt 99,8253 x4 » 10 3,993
SNEIEEERS
18, 1732 x4 +20A1 2t 123 17,447
= 9,846
= 738
Al 6,863
M HASFESS 31,044 15,406 15,638
= 18,609
= 1,39%
Al 11,039
04 SR (RIH )22 BEE=RES S 31,044 15,406 15,638
OOtSSEAtdIZCIAL 40 B8 D12 fE=
Y EXNZ S 31,044,000 *14! 31,044
2 18,609
= 1,39%
Al 11,039
NSOtSHE OtSSAIWAL A& 2124H| 699,349 613,668 85,681
= 271,323
= 83,683
Al 344,343
101 @124H| 566,427 534,930 31,497
= 225,914
< 68,674
Al 271,839
03 SR (RINHA) 222+ 566,427 534,930 31,497
OOtS=SXIWAHLEDAL) A XI& 530,208
oJllEad 432,000,000 * 14 432,000
= 213,000
& 64,800




SN OEIIED
A HYRAZHI(HLEIELL)(OIEH/IIE
s lIEE2ghl EER=E)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
Al 154,200
oFEA0U= 51,408,000 x 14! 51,408
ogAltl 46,800,000& 14 46,800
OOtS=E X WAHKIFALZ S XIAL X1 36,219
=llgs 22,649,000& 1 22,649
= 10,853
< 3,256
Al 8,540
odz2+g 738,000 *1&H 738
oIS 480,000& «1H 480
oXRRGH 960,000& *1H 960
oXgag 2,400,000 *1H 2,400
o™z A 1,560,000&«1H 1,560
oHERIHI 2,410,000& 1 2,410
ocWXteE 900,000& *1 900
oAZ2tRZ2RE 4,122,000& 14 4,122
= 2,061
= 618
Al 1,443
M H=RE=S 132,922 78,738 54,184
= 45,409
= 15,009
Al 72,504
M4 SRE(RIAHA) 22X BEEHEREE S 132,922 78,738 54,184
OOSEXWAHXISAIZIZXIAL) 4T 28 I
22z & EHs 7,124,000 1 7,124
= 950
= 77
Al 5,403
OOISSRILAHL B WAL 401 28 D22
= % &&=z 125,798,000 & * 14! 125,798
= 44,459
= 14,238
Al 67,101
OlISEsdgRd o1dd| 154,467 71,357 83,110
s 104,400
= 7,800
Al 42,267
101 eI24d| 133,367 65,357 68,010
[ 87,520
== 6,558
Al 39,289
03 BRA(RIAHL) 222 133,367 65,357 68,010




SN OIEIIED
3. A2 3HI(0gIH=E!) (1B IIE
chol: ol (19 @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Oots=2sdgd 2Adl(0I=22)
101,226, 1603 *14] 101,227
= 80,980
[ 6,074
Al 14,173
OAlZte| 2242 (EX)
8,154,000 *14] 8,14
= 6,540
< 484
Al 1,130
OZUZAHI(1E) 130,000 x2&* 12 3,120
Oe=g(13d) 200,000 2 *12& 4,800
Oa4it| 8,000 x2&*102* 122 1,920
Ooxe=g 80,000 x2&* 122 1,920
OJsE=g 220,000 «2H* 123 5,280
OZESIIHI 4,414, 9402114 4,415
Odxt=< 1,794, 1003 *14] 1,795
odza=+¢ 735,820 %14 736
04 HSRESS 21,100 6,000 15,100
= 16,880
== 1,242
Al 2,978
M SRH(RIAHL) 22N 2EERRES S 21,100 6,000 15,100
Olt=sEsdEeR 40 28x2 J|& RE3
21,100,000 * 14| 21,100
s 16,880
s 1,242
Al 2,978
=34 96,956 97,19% A240
Jl=2&H] 96,956 97,19% A240
201 er2 3| 53,136 53,136 0
01 At2teltl 52,136 52,136 0
Ogit=ZH| SUA
19,344,000 * 14 19,344
O=gHl S9AHd 31,832,000 x 14 31,832
OS3RA(RIIAH) 22X S
8,0002x2&+5ed« 123 960
2 35244l 1,000 1,000 0
O=32= € MAl S9N
1,000,000 %14 1,000
202 04t 33,200 33,200
01 =LHNHI 33,200 33,200
ORANEY SHAY 30,800,000 *14] 30,800




of
i’
oF
uJ

-

KIO

Hlw

A240
A240

HMEE
Ofl &k2h

10,860
10,860

Ofl &F2H

2,400
10,620
10,620
10,620

4,800

5,820

- HyS

- SRA(3) - HIRAEY

S - B

Ol

&l
* B0+ 128

%

) 22X YREE

20,000

K]
KF
oF
oD

77H)

Sk

OWEIIEEIH(E

400,000& ~ 123

stal2H (e 47Y)

I
X0

0

(400,0002+(5,0002x 17 ) )« 122




